


—

A
<]
Rl (5]

Pesr in Kg.
SCAFoO_ _ _ AM—+B°—— Sheci=
PAGLIOLI_ . _J} 30 _  _ _
TIMONE + BARRA
(senza prolunga)_ 6.3% _ _

M'li.:.fure |

A_ud_

p \

L N, | i

£ __«___ \

F__o_ -_

G _ b _ . C/

H o e |

1 A - l ;

M o_a

(- ST, CJEHe .

= —

Q __p_ & L4¢

R _ W __ ]

Ky o i SR |

B 7 ;.'
or— )

R e

|
A :L_ .'B C . - 40 !
() T e S T e | Sl T AL 432 | 203
Si_432 BT . NI =‘__,J__£4_/ _,7[1|_; = 432 203
s

| (5o ' - -
Puntale=[5g, | (b} -

(a) Distanza della landa (b) Distanza fra il perno deriva
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